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Finding the equation when given part of a graph are ‘Excellence’ level problems

This graph is of part of a hyperbola, with equation in the form:
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Find a, b & c

The roof of sports stadium is a curve based on a circle

Two roof supports are 20m tall (at d = 10 and d = 110)
h = height of the roof & d distance from the entrance
The equation is in the form:
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Find a, b & c

The spending on ICT at school follows a log model

$ = spending in thousands of dollars

t = time in months

The equation is in the form:     
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         Find A & B
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Find the equations B














Find the equations A
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